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3-1. TR =R — =
FLLS]

1. LI;‘% %‘[{E“ E”\F Rainfall(mm) Rainfall(mm) Rainfall(mm)
ﬁljl_ﬁjjr,_ 119.6 840.7 186.6

PI= 229.6 84.0 132.7
=+ ﬁzﬁz’}\ﬂ E [[ JE *;[ 170.6 2222 179.9
146.7 179.6 281.9

262.7 159.4 125.4

141.6 148.9 235.6

362.9 348.6 221.4

261.2 191.0 1255

193.9 144.0 361.0

240.3 304.3 94.5

232.6 91.1 136.8

370.2 145.0 296.0

565.9 50.0 2215

138.9 2335 201.0

106.7 164.0 149.0

139.6 274.5 470.0

154.0 1515

360.3 258.1 1z
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3-1. evpRl=1p=
R 4/5]

4. ﬁﬁﬁh—j‘ﬂfg} g = h%g‘ﬁé[

Class o Relative
interval R frequency

0-100 0.077
100-200 0.462
200-300 0.289
300-400 0.115
400-500 0.019
500-600 0.019
600-700 0.000
700-800 0.000
800-900 0.019 L N

T T T T
100 200 300 400 500 600 700 800 900
Class Interval

Relative Frequency
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s, = TR o AR il

. o Relative Cumulative
Class interval TREr
frequency frequency

0-100 4 0.077 0.077
100-200 24 0.462 0.539
200-300 15 0.289 0.828
300-400 6 0.115 0.943
400-500 1 0.019 0.962
500-600 1 0.019 0.981
600-700 0 0.000 0.981

0
1

700-800 0.000 0.981
800-900 0.019 1.000

T T T T T T T T
100 200 300 400 500 600 700 800 900
Class Inteval
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1. e R

Rainfall Rainfall i Rainfall
Rank (mm) Rank (mm)

50.0 | 14 1440 0 | 40 2627
840 | 15 1450 9 | 41 2745
911 | 16  146.7 0 | 42 2819
945 | 17 1489 4 | 43 2960

1067 | 18 1490 5 | 44 3043

1196 | 19 1515 2 | 45 3486

1254 | 20 1540 6 | 46  360.3

1255 | 21 1594 6 | 47 3610

1327 | 22 1640 5 | 48 3629

1368 | 23 1706 6 | 49 3702

1389 | 24 1796 3 | 50 4700

1396 | 25 1799 1|51 5659

1416 26 1866 2 52 84074

S-1. (= R — piri /]

=t BT If;—\&' Rainfall Rainfall Rainfall
2.5 ET ?FJ 2 Rank (AR |Rank (I g d [Rank g g
x ; D (200 :!_) 50.0 0.0129 19 151.5 0.3567 240.3 0.7006

0.0320 20 154.0 0.3758 258.1 0.7197

‘g\\’:’_/{g D ﬁ;h\] I7J 91.1 0.0511 21 159.4 0.3949 261.2 0.7388
94.5 0.0702 22 164.0 0.4140 262.7 0.7579

106.7 0.0893 23 170.6 0.4331 274.5 0.7770

(I _ 0326) 119.6 0.1084 24 179.6 0.4522 281.9 0.7961
== 125.4 0.1275 29 179.9 0.4714 296.0 0.8152
(n aF 0348) 125.5 0.1466 26 186.6 0.4905 304.3 0.8343
132.7 0.1657 27 191.0 0.5096 348.6 0.8534

136.8 0.1848 28 193.9 0.5287 360.3 0.8725

138.9 0.2039 A 201.0 0.5478 361.0 0.8916

139.6 0.2230 30 221.4 0.5669 362.9 0.9107

141.6 0.2421 31 221.5 0.5860 370.2 0.9298

144.0 0.2612 32 222.2 0.6051 470.0 0.9489

145.0 0.2803 33 229.6 0.6242 565.9 0.9680

146.7 0.2994 34 232.6 0.6433 840.7 0.9871

148.9 0.3185 35 233.5 0.6624

149.0 0.3376 36 235.6 0.6815

19
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3-2. aﬁ;{“l‘@(’ / PJL[EI LR 1A

[L/3]

Year 1943 1941 1944 1945 1946 1947 1942 1940
Depth(in)  0.92 0.70 0.66 0.65 0.63 0.60 0.57 0.34
Rank 1 2 3 4 5 6 7 8

x = S, =0.6338

_ 0.92+(6/7)x0.70+(5/7)x0.66+--+0x034 _

2+(30/42)x0.70 +(20/42)x 0.66 + --- +0x 0.57 + 0x 0.34
8

=0.2548

36

ﬁﬁ x}f‘ghzr[/ i[fli: IEI = ‘C-I:]EVLJT e

23]

o (= T
A = f3, = 0.6338

A, =2, — B, = 2x0.3607 — 0.6338 = 0.0877
A, =68, —6p, + B, =—0.0016

Seibige A e (o)) 0 s 0 e ()

2,
o %z 0.138 » 75 =2%=-0.018

2
S 2 S i) SRS (6) S e S 6

- 'ﬁl% 4‘:g‘:(cs)
X =0168861° SS0HI60PNEV=0/252 " C==0/055




3. MFES 3 [ T

® SO AT
—— AT (GEV)
I 2 (EVAD)
= A= 205 1 (PT3)
= e A RIS,
= = 00l e (ENED

3-3. <7}ﬂj_ '?ﬁ

o s i pr(Probability: Density

Fu;l}ctoﬁrg)/ﬂ e 21 i
ra




3-3. st ek 3 iyl 4

& 7 il HE(Cumulative Distribution

Functlon) [’}
F(x) = jf(x)dx I\/_a ¢ 2l algy

3'3- 7 %)F%}AJ’}J[ ~

plx) = jftx)dx
x‘--Ax

Sample Population

(a) Relative frequency function (d) Probability density function
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= [P+ 2k)- 2@+ 2k

Ve e i

a=—kB > u=A+B
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Var(y)=T(1+2k)-T?1+k)
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8-4. FE| A [ = — T
1 7[4/4]

¢ j\LL[ = {A:j[EI l 'J%* I ] E? "% & £ (mm) BLIP X #ic
L ighe . 800-1300
0 1300-1800
x -1y X = 2158.503 1800-2300
= 2300-2800
2800-3300
3300-3800

Total

> (- X) =631.369

3-A4. FRFBGE TV — (e
f517[2/4]

o I I AR A

" & (mm) BLR| = #ic(O) Ap ¥4 5 R 8 5
800-1300 4 0.0975 0.0975
1300-1800 7 0.1707  0.2682
1800-2300 13 0.3171 0.5853
2300-2800 0.2683  0.8536
2800-3300 0.1220 0.9756
3300-3800 0.0244  1.000

Total 1.0000 =




A 0 ([ =4 — (e
iy[3/4]

JJT )ﬁ&} BJ E‘V
ELIT] » FEEIE 'TUE&@*‘
%“ EV—%TU&@ Gk #E\f

P a & (mm) s ge(0) T H T EEE
€)

800-1300 4 0. 0711 2.9151
1300-1800 7 0.1974 8.0934
1800-2300 13 0.3102 12.7182
2300-2800 11 0.2590 10.6190
2800-3300 5 0.1187 4.8667
3300-3800 1 0.0305 1.2505

Total 41 0.9869 40.4629

N 2 AN NE S O S
A1)

o= ETx 2

5 a £ (mm) fpl = #(0) ’;(FS)'E

800-1300 4 2.9151
1300-1800 7 8.0934
1800-2300 13 12.7182
2300-2800 11 10.6190
2800-3300 5 4.8667
3300-3800 1 1.2505

Total 41 40.4629

2 2
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016252 3% e pa1-B1l
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o SEHEHR 1) = A P

Rank Rainfall ank Rainfall Rank Rainfall Rank Rainfall
(mm) (mm) (mm)

814.0 1859.4 23 2261.7 34
1074.2 1900.0 2272.8 35
1176.0 1909.4 2340.0 36
VALK 1920.0 2402.0 37
1373.4 2000.0 2414.2 38
1390.2 2100.53 2501.0 39
1448.2 2151.6 25139 40
1514.0 2172.0 2519.8 41
1543.0 PACLW) 2538.5
1619.0 2209.0 2548.4
1672.7 2258.0 2581.2

O 0 3 O L &~ W N —

3-4. FREESES 5] H

2/5

¢ = ENH AR S () =rank/n

Rank Rainfall — AZ4% Rank Rainfall  AZ4% Rank Rainfall AZA4%

(mm) % (mm) % (mm) %
814.0  0.0244 15 1920.0 0.3659 ) 25139 0.7073
1074.2  0.0488 16 2000.0  0.3902 30 2519.8 0.7317
1176.0  0.0732 | 17 210053 0.4146 | 31  2538.5 0.7561
12193  0.0976 | 18  2151.6 0.4390 | 32  2548.4 0.7805
13734 0.1220 | 19  2172.0 0.4634 | 33  2581.2 0.8049
1390.2  0.1463 | 20  2198.2 04878 | 34  2611.6 0.8293
1448.2  0.1707 | 21  2209.0 0.5122 | 35 2636.5 0.8537
1514.0 0.1951 | 22 2258.0 0.5366 | 36  2812.0 0.8780
1543.0 0.2195 | 23 2261.7 0.5610 37 2956.3  0.9024
1619.0 02439 | 24  2272.8 0.5854 | 38  3043.0 0.9268
16727 02683 | 25 23400 0.6098 | 39  3071.0 0.9512
18594 02927 | 26 24020 0.6341 40 32045 0.9756
1900.0  0.3171 | 27 2414.2  0.6585 41 3748.1  1.0000
19094 03415 | 28 2501.0 0.6829




S-4. SRS I ]| i
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® A R AR OO

Rainfall Rainfall FEME
Rank (mm) P(x) |Rank (mm) P(x) Rank (mm) P(x)

8140 0.0165 | 15 19200 03526 | 29 25139 0.7135
10742 0.0427 | 16 ~ 2000.0 0.4009 | 30  2519.8 0.7166
1176.0  0.0597 | 17 2100.53 0.4637 | 31 25385 0.7265
12193 0.0684 | 18  2151.6 04957 | 32 25484 0.7317
13734 0.1070 | 19  2172.0 05084 | 33  2581.2 0.7485
13902  0.1120 | 20 21982 05249 | 34  2611.6 0.7636
14482  0.1305 | 21 2209.0 0.5316 | 35  2636.5 0.7755
15140  0.1539 | 22 22580 05624 | 36  2812.0 0.84%4
15430 0.1650 | 23 2261.7 05647 | 37 29563 0.8967
16190  0.1965 | 24 22728 05717 | 38  3043.0 09194
16727 02208 | 25 23400 06132 | 39 3071.0 0.9258
18594 03176 | 26 2402.0 0.6503 | 40 32045 09514
1900.0  0.3409 | 27 24142 0.6575 | 41 37481 0.9940
19094 03464 | 28  2501.0 0.7065

3-4. FREESES 5] ﬂ = — K-Sk

o SETIPCY - SOOI %i\ 0

RANK] rain(x) S(x) Px) 1IPx)-Sx)I |RANK [rain(x) S(x) P(x) | IPx)-Sx)I
814.0 ] 0.0244 10.0165 | 0.0079 22 [2258.0 10.5366 | 0.5624 0.0258
1074.2 1 0.0488 10.0427 | 0.0060 23 [2261.7 10.5610 | 0.5647 0.0038
1176.0 1 0.0732 10.0597 | 0.0135 24 [2272.8 10.5854 | 0.5717 0.0137
1219.3 1 0.0976 10.0684 | 0.0292 25 [2340.0 10.6098 |0.6132 0.0034
1373.4 10.1220 10.1070 | 0.0149 26 [2402.0 10.6341 | 0.6503 0.0162
1390.2 1 0.1463 10.1120 | 0.0343 27 [2414.2 10.6585 | 0.6575 0.0011
1448.2 1 0.1707 10.1305 | 0.0402 28 [2501.0 10.6829 | 0.7065 0.0235
1514.0 1 0.1951 {0.1539 | 0.0412 29 [2513.9 10.7073 ] 0.7135 0.0061
1543.0 1 0.2195 10.1650 | 0.0545 30 [2519.8 10.7317 | 0.7166 0.0151
1619.0 ] 0.2439 10.1965 | 0.0474 31 [2538.5 10.7561 | 0.7265 0.0296
1672.7 1 0.2683 ] 0.2208 | 0.0475 32 [2548.4 10.7805 | 0.7317 0.0488
1859.4 10.2927 10.3176 | 0.0249 33 [2581.2 10.8049 |0.7485 0.0564
1900.0 ] 0.3171 ]0.3409 | 0.0238 34 [2611.6 10.8293 ]0.7636 0.0657
1909.4 ] 0.3415 10.3464 | 0.0049 35 [2636.5 10.8537 | 0.7755 0.0782
1920.0 1 0.3659 10.3526 | 0.0132 36 12812.0 [0.8780 [0.8494 | 0.0286
2000.0 ] 0.3902 [0.4009 | 0.0107 37 12956.3 10.9024 |0.8967 0.0058
2100.5 ] 0.4146 10.4637 | 0.0490 38 [3043.0 10.9268 10.9194 | 0.0075
2151.6 ] 0.4390 [0.4957 | 0.0567 39 13071.0 1 0.9512 [0.9258 0.0254
2172.0 1 0.4634 10.5084 | 0.0450 40 [3204.5 10.9756 [0.9514 | 0.0242
2198.2 10.4878 [0.5249 | 0.0371 41 [3748.1 11.0000 10.9940 | 0.0060
2209.0 | 0.5122 [0.5316 | 0.0195 D=MAXIP(X)-S(X)I= 0.0782




3-4. ARG I ”ﬂ B — s
1/5]

® fiidie dyD=D¢
_ 0.0782<2.21

L

4. ARFBFE “ﬂJ—I/ g

4 'Iﬁn JJ ﬂj E’QFIJ{&:E“

ofmegha] | [t

@mM%@%M“

DRRI TR B ik
ORI S TR

I B AN E S IR RRIR A X ?ﬁﬁn ,;g
3%’*’ RPLGEEHBERIHBF2Z kY £X




i

 (ESE U
==L e = f”

— ]
F o |
SRl

# A F{ _[/”%Fﬁﬁm

il = F e i
;}ff"[/fﬁﬁflﬁﬂj

|
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hBE— A st S (11604 4 2 b))

_Lsr =122 _g6.087
n <= 23

Ly (. — %) = \/ 49725596 =15.039

(n—1)r2n_2)[2in (%, —x) /s ] 0.774

. G5 —csx =1 (1+—j 1.1355

-2 n

hF= B S K
(A)GEV
C, =1.1355 & C 22 ki % R
k =-1.5133x10
E(y)=T(1+k)=1.008965

Var(y) = [(1+2k) = T?(1+ k) = 3.9230x 10

| 15.039°
1 3.923x10™

.
} =759.312




v

R ¥ 4id

A= X —B-E(y) = 66.087 — 759.312 x1.008965 = —700.033
a =—kB = —(~1.5133x102)(759.312) =11.491
1= A+ B =-700.033+759.312 = 59.279

5 ¢ 5
y :[fnﬂ} = (znz)“’l?ﬁx10 —1.0230

1-1.0230
—~1.5133%x107°

X, :,u+(1_Ty)-a:59.279+( )-11.491=76.74

(b)EV1

K, =—-0.7797 {0.5772 + fn[fn(%)]} =0.72
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ot P EV1 GEV PT3 LPT3 LN3
10 ~ 45 1.6777 1.4966 1.6563 1.4744 1.5338
30 4 48 2.5146 2.0460 2.0215 2.0896 2.0507
60 4~ 45 1.9977 1.7830 1.6678 1.6739 1.7322
90 4~ 48 3.1013 2.7452 2.5848 2.7917 2.7194
2] pF 4.3019 3.8354 3.7108 4.1529 3.8257
3] pF 4.1262 3.6330 3.4902 3.9742 3.6149
6] pF 3.5260 3.1904 2.8683 3.2900 3.0952
12 /) P 3.7140 2.9599 2.9214 3.2146 2.9981
24 | pF 3.4125 3.0816 2.8094 2.9965 2.9729
48 | pF 4.6899 4.3069 3.92901 4.8088 4.1769

I35 3.3062 2.9078 3.0467 2.8720
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Sorx gt Homerg=gica sl v ¢
@2 E£FRT =2 = v » log(117)=2.068 » EBzkhi=1 >
log(10+1)=1.041398 » % 2 pr2t & 4o v 2

(2). 7% » Hornerz_ B f43% %2 :logl, =loga—clog(t+b) o
@)= k2 2+ Elogla=5.985% ¢ = 0,462 -
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Log(ly) Log(t+1)

10 11 2.068186 1.041393 131.3884 0.01512353
30 83 31 1.919078 1.491362 81.43082 0.00035743
60 63 61 1.799341 1.78533 59.5734 0.00295832
90 52 90 1.716003 1.959041 49.52712 0.00226151
120 44 120 1.643453 2.082785 43.42159 0.00017281
180 36 180 1.556303 2.257679  36.05378 0.00000223
360 27 360 1.431364 2.557507 26.21249 0.00085072
720 20 720 1.30103 2.857935 19.04535 0.00227839
1440 14 1440 1.146128 3.158664  13.83347 0.00014149
2880 9 2880 0.954243 3.459543 10.04624 0.01351380
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c=0.5084 1e: °
N)EBHFHD)Z(6) 7 F £ ERI 2 F¥ -
v & s%shHorner 28 ¢ 2. g4k
TIRYEET Horner 2 ;¢
2 1=539.36/(t+10.16)">"%*
S 1=624.05/(t+14.77)°452®
10 1=681.21/(t+17.23)%472°
25 |=751.84/(t+19.74)%46%
50 1=802.02/(t+21.21)%464

100 1=849.87/(t+22.40)>*"
200 1=895.60/(t+23.34)"**"
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. ﬁ%?ﬁ — A~V gEE i A A (Flood Studies Repont 1979)

What period of records is available?

0 Estimate 6 Derive monthl 0
Estimate Q from peaks . y Estimate Q
maxima.
from annual over a form catchment

maximumseries threshold(POT) Extenc_i recode. characteristics
series Estimate Q

Compare estimates of (_)
. Install gauge
and combine
Estimates Qr Derive Qt form Q by region curve

If T>500, use countrywide curve and
Compare compare with unit hydrograph estimate
estimates of Qr

Fit general
extreme value
distribution to
annual maxima
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Control curves Se DA AR (g

Frequency curve EER %o TR
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a : Significance level

B - Confidence level
88

Return period T
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P P P

Year 1 omin 4 el 10min % & yels 10min % &

1913 0.49 1925 0.68 1937 0.64
1914 0.66 1926 0.68 1938 0.52
1915 0.36 1927 0.61 1939 0.64
1916 0.58 1928 0.88 1940 0.34
1917 0.41 1929 0.49 1941 0.70
1918 0.47 1930 0.33 1942 0.57
1919 0.74 1931 0.96 1943 0.92
1920 0.53 1932 0.94 1944 0.66
1921 0.76 1933 0.80 1945 0.65

1922 0.57 1934 0.62 1946 0.63
1923 0.80 1935 0.71 1947 0.60
1924 0.66 1936 1.11

TR FESE ot B A
J6

——{0.5772+ In
T

J6

——{0.5772+ In
72- L

il p gl 2/2)

=0.649+0.719%x0.177 =0.78
PSS E|

: Y
S, = —(1+1.1396KT +1.1x KT) xS
n

- {3_15b+1.1396x 0.719+1.1x(0.719) ]}x 0.177 = 0.046

90% 1 #f T B Z @ =1.645 » 7] :
X; £S,Z,, =0.78+0.046x1.645=0.70 and 0.86
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